
CL

TOP OF STEEEL

EL SEE PLAN

CL

THIRD FLOOR

DUNNAGE FRAMING
TOP OF STEEL

EL SEE C8/SS5-507D

J

THIRD FLOOR DUNNAGE
FRAMING

EL 117' - 8"

3" 2"

1 
3/

4"

3 
@

 3
"

1 
3/

4"
1/2"

1 3/4"

3" 2"

1 
3/

4"
7 

E
Q

 S
P

 =
  1

' -
 1

1 
1/

2"
1 

3/
4"

1"

1"

3/8

3/8

1' - 8" 5/16

5/16

5/16

5/16

HSS6X6,
SEE ELEVATION

PL 3/4X7 1/4X2'-3" WITH
(16) 1" DIA A490 BOLTS

PL 5/8X6 1/2X2'-2 1/2" EACH SIDE
TYP AT BRACE

GUSSET PL 3/4

PL 3/4X7 1/4X2'-3" WITH
(8) 1" DIA A490 BOLTSSTANDARD CONNECTION,

SEE TYP DETAILS

W18, SEE PLAN
BEAM,
SEE PLAN

F4

SS5-504D

1'
 - 

0 
1/

2"

5/16

5/16

NOTE: A490 BOLTS ARE TO BE
PRETENSIONED WITH SLIP-CRITICAL
FAYING SURFACES

THIRD FLOOR
PENTHOUSE ROOF

EL 134' - 8"

6 3/8" 6 3/8"

10"

1'
 - 

1"

1'
 - 

9 
1/

2"

WP

BEAM,
SEE PLAN

GUSSET PL 3/4

BRACE,
SEE ELEVATION

7/16

7/16

PL 5/8X6 1/2X2'-2 1/2" EACH SIDE
TYP AT BRACE

STIFF PL 3/8X3 3/16X1'-11
1/2" EACH SIDE OF GUSSET

7/16

7/16
BRACE TO

GUSSET, TYP

3/16

3/16
STIFF TO

GUSSET, TYP

F4

SS5-504D

HSS BRACE

PL 5/8X6 1/2X2'-2 1/2
EACH SIDE (Fy = 50 KSI)

TYP FULL
LENGTH

THIRD FLOOR DUNNAGE
FRAMING

EL 117' - 8"

7 5/8" 7 5/8"

1'
 -

 8
"

2'
 -

 0
 3

/4
"

4' - 1"

GUSSET PL 3/4

PL 5/8X6 1/2X2'-7" EACH SIDE
TYP AT BRACE

STIFF PL 3/8X3 7/16X2'-0 3/4
EACH SIDE OF GUSSET

7/16

7/16

3/8

3/8
BRACE TO
GUSSET, TYP

3/16

3/16
STIFF TO
GUSSET, TYP

BRACE,
SEE ELEVATION

BEAM,
SEE PLAN

F4

SS5-504D

1'
 - 

3"

1'
 - 

10
 3

/4
"

THIRD FLOOR
EL 113' - 8"

HSS6X6 POST,
SEE SCHEDULE

PL 1X8X1'-0 1/2" WITH
(4) 1" DIA A490 BOLTS, TYP

PL 1X12X1'-0 CENTERED
OVER EXISTING COLUMN

3/16

CJP

3/8

EXIST BEAM,
SEE PLAN

EXIST COLUMN,
SEE SCHEDULE

EXIST BEAM,
SEE PLAN

11
"

EXISTING CAP PLATE

EXISTING CONCRETE ON METAL DECK.
REMOVE TO THE MINIMUM EXTENT
REQUIRED TO INSTALL POST

F5

SS5-504D

FILL AREA REMOVED WITH
LIGHTWEIGHT CONCRETE
AFTER HSS POST INSTALLED

PL 1

1' - 0 1/2"

8"

1/
2"

EXTERIOR FACE

TYP
1 3/4"

HSS6X6

ROOF DECK,
SEE PLAN FOR ORIENTATION

6" STUD,
SEE ARCH

CONNECTOR TO ALLOW
FOR VERTICAL MOVEMENT

BEAM,
SEE PLAN

EXTERIOR FACE
OF WALL

1' - 4"

SEE PLAN

EOD

L3X3X1/4 FOR EOD = 2" - 3"
L4X3X1/4 LLH FOR EOD = 3" - 4 1/2"
L5X3X1/4 LLH FOR EOD = 4 1/2" - 6"
L6X3-1/2X5/16 LLH FOR EOD = 6" - 7 1/2"

MIN
2" LAP

3/16 2 @ 12

THIRD FLOOR DUNNAGE
FRAMING

EL 117' - 8"

1 
1/

4"
2 

@
 3

"
1 

1/
4"

BEAM
SEE PLAN

1 
1/

4"
3"

1 
1/

4"

C12

L4X3X3/8 WITH
(2) 3/4" DIA BOLTS

TYP TOP AND
BOTTOM FLANGE

2L4X3-1/2X1/4
TYP UNO

3/16

3/16

3/8" RETURN AT
ANGLE TOP

3/16

TYP AT DOUBLE
ANGLE CONN

HSS6X6X1/4 POST

2"

1' - 1 3/8"

1' - 4"

BEAM
SEE PLAN

THIRD FLOOR
PENTHOUSE ROOF

EL 134' - 8"

1' - 1 3/8"

2"

1 
1/

4"3"
3"

1 
1/

4"

DECK, SEE PLAN
FOR ORIENTATION

3"
5"

W12

W16

HSS6X6 POST

BENT PL 3/8X5 EACH SIDE
OF POST WITH (1) 3/4" DIA A325
THRU BOLT IN VERT SLOTTED
HOLES IN PLATES

3/16 3

1/2" RETURN AT
ANGLE TOP

/E4 SS5-504DSEE                             FOR
EDGE OF DECK DETAIL

V
E

R
IF

Y
 W

IH
 A

R
C

H

2'
 -

 0
"

LE
N

G
TH

  (
L)

D

L 
/ 4

C
EN

TE
R

LI
N

E

   
 O

F 
BR

AC
E

D

D

NOTES

1. ATTACHMENTS PROHIBITED IN
    PROTECTED ZONE INDICATED THUS
    (APPLIES TO ALL BRACES)

BRACE,
SEE ELEVATION

BEAM
SEE PLAN

COLUMN
SEE PLAN

BEAM
SEE PLAN

COLUMN
SEE PLAN

N

THIRD FLOOR DUNNAGE
FRAMING

EL 117' - 8"

6" STUD,
SEE ARCH

CONNECTOR TO ALLOW
FOR VERTICAL MOVEMENT

EXTERIOR FACE
OF WALL

HSS3X3X3/8

HSS6X6

5/16
3 SIDES SEE

FOR CONNECTION
/B7 SS5-504D

3/16

HSS10X6X5/8

SHORE BEAM UNTIL
BRACE IS INSTALLED

4' - 3" @ SIM

3' - 6"  TYP

WP

2 SIDES

WP

BEAM
SEE PLAN

CJP

1' - 4" VARIES, SEE PLAN

EXISTING TS 12X12
COLUMN

PL 3/8X14 1/2X CONT FULL
LENGTH OF COLUMN FROM
TOP OF SLAB TO 1/2" BELOW
BEAM (TYP OF 2)

2 @ 6
TYP EACH PL

21"

TYP EACH END
EACH PL

THIRD FLOOR
PENTHOUSE ROOF

EL 134' - 8"

1 
1/

2"
2 

@
 3

"

1 
1/

2"

2 
1/

2"

1 1/2"

2 @ 3" @ SIM

3 @ 3" 3"

W16, SEE PLAN

HSS6X6 POST
ABOVE AND BELOW BOTTOM
THROUGH PLATE

THROUGH PLATE

1 1/2" 2 1/2"

PL 1/2X8X2'-9" TOP AND BOTTOM
WITH (8) 3/4" DIA A490 BOLTS AT
EACH FLANGE, GA = 3 1/2"
(PL 3/8X8X2'-3" WITH (6) BOLTS @ SIM)

1/2"

PL 5/16X4X9 WITH
(3) 3/4" DIA A490N BOLTS

3/8

3/8

FACE OF HSS

3 3/8"

2"
2@12

TYP

HSS6X6X1/4
L5X3 1/2X3/8
STOP 3" FROM
EITHER SIDE
OF OPNG

3/4" DIA HOLES
AT 24" OC

2@12

2@12
TYP

HSS6X6X1/4

L5X3 1/2X3/8
FULL HEIGHT
OF OPENING

3"

2@12

6" 6"

3"
4 

1/
2"

1 
1/

2"

1 1/2"

PL 3/8X9X1'-0"

HSS6X6

3/4" A325N BOLTS

1 1/2"

SECOND FLOOR
EL 101' - 10 5/8"

EXISTING BEAM AND
SLAB, SEE PLAN

W8X15

POUR STOP

3" X 20 GA STEEL DECK WITH
3" LW CONCRETE FILL REINF
WITH 6X6-W1.4XW1.4WWR

6"

REMOVE EXISTING CONCRETE
TO ALLOW FOR MIN 2 1/2" BEARING
FOR NEW DECK

STEEL DECK
SEE PLAN

BEAM, SEE PLAN

SEE PLANBEAM, SEE PLAN

PL 1/4X5X5, TYP

TYP

TYP

TYPICAL EXTERIOR
EDGE DETAIL,
SEE /E4 SS5-504D

@ SIM - DECK DIRECTION
CHANGES, OMIT EDGE
ANGLE

1/2" GAP

L3X3X5/16 x 0'-4", TYP
SUPPORT ANGLE
CENTERED ON POST

HSS6X6

HSS6X6
CENTERED ON POST

3/16
TYP

1/4

1 1/2" RETURN
AT ENDS, TYP

3/16

3/16
TYP

o
n

e
-e

ig
h

th
 i
n

c
h

 =
 o

n
e
 f

o
o

t

0
4

8
1
6

o
n

e
-q

u
a
rt

e
r 

in
c
h

 =
 o

n
e
 f

o
o

t

0
4

8

th
re

e
-e

ig
h

th
 i
n

c
h

 =
 o

n
e
 f

o
o

t

0
4

o
n

e
-h

a
lf

 i
n

c
h

 =
 o

n
e
 f

o
o

t

0
4

th
re

e
-q

u
a
rt

e
rs

 i
n

c
h

 =
 o

n
e
 f

o
o

t

6
"

0
2

o
n

e
 i
n

c
h

 =
 o

n
e
 f

o
o

t
o

n
e
 a

n
d

 o
n

e
-h

a
lf

 i
n

c
h

 =
 o

n
e
 f

o
o

t
th

re
e
 i
n

c
h

e
s
 =

 o
n

e
 f

o
o

t

6
"

0
2

6
"

0
1

6
"

0

Drawing number

Drawn

Building Number

Location

Project Title

Date

Project Number

Checked by

Drawing Title

Approved : Project Director

1 2 3 4 5 6

F

E

D

C

B

A

F

E

D

C

B

A

1 2 3 4 5 6 7 8 9

CONSULTANTS: ARCHITECTS/ENGINEERS Office of
Construction
and Facilities
Management

Department of
Veterans Affairs

7 8 9

BUILDING PARTIALLY SPRINKLERED (RENOVATED SPACES/
NEW PENTHOUSES IN THIS SCOPE OF WORK 100% SPRINKLERED )
BID SET 06/12/2015

GAUTIER de TORRES ARQUITECTOS
Apartado 19357, San Juan, Puerto Rico 00910-1357

DEGENKOLB ENGINEERS
235 MONTGOMERY ST, SAN FRANCISCO, CA 94104

SAQ ENVIROMENTAL ENGINEERS, INC
PO.BOX 155, MANATI, PR 00674

LASALLE ENGINEERING, LLC
1000 YORK ROAD WILLOW GROVE, PA 19090

M.A + ASSOCIATES, LLC
8655 CHERRY LANE, LAUREL, MD 20707

CT + ASSOCIATES, LLC
86 THOMAS LEIGHTON BLVD, CUMBERLAND, RHODE ISLAND 02864

C
:\r

vt
\1

74
83

4S
-H

D
R

V
A

S
J-

C
E

N
T

R
A

L_
m

m
uh

le
nk

.r
vt

7/
15

/2
01

5 
10

:3
5:

45
 A

M

SS5-504D

STEEL - SECTIONS AND DETAILS

MM RW06/12/2015

672-085APHASE 3 BUILDING ONE-SEISMIC
CORRECTIONS AND RENOVATIONS

0

VA Caribbean Healthcare System
10 Casia Street, San Juan, PR 00921-3201

1

1101 King Street Suite 400,
Alexandria, VA 22314

 1" = 1'-0"
B1

DETAIL
 1" = 1'-0"

B3
DETAIL

 1 1/2" = 1'-0"
F4

SECTION

 1" = 1'-0"
B5

DETAIL
 1 1/2" = 1'-0"

B7
DETAIL AT SECONDARY PENTHOUSE

 1 1/2" = 1'-0"
F5

SECTION

 1" = 1'-0"
E4

SECTION

 1" = 1'-0"
C3

SECTION - POST AT OVERHEAD DOOR

 1" = 1'-0"
C5

SECTION - POST AT OVERHEAD DOOR

 1/2" = 1'-0"
F1

BRACED FRAME PROTECTED ZONE

 1" = 1'-0"
C7

SECTION

 1 1/2" = 1'-0"
F6

DETAIL

 1" = 1'-0"
C1

SECTION

 1 1/2" = 1'-0"
F7

SECTION  1 1/2" = 1'-0"
F8

SECTION
 1 1/2" = 1'-0"

F9
DETAIL

 1" = 1'-0"
E5

SECTION
 1 1/2" = 1'-0"

E7
SECTION

 1 1/2" = 1'-0"
E8

SECTION

NO REVISIONS DATE

BID SET 06/12/2015

ADDENDUM 1 07/07/2015


